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Abstract In this paper, we introduce a new network measurement technique to measure available bandwidth for a path be-
tween two endhosts, which is necessary for service overlay network to improve its service quality. Although our method is
based on the active measurement approach, we do not use extra packets for the measurement. Instead, the measuremer
performed by correcting the network characteristics information obtained from the packets which an active TCP connection is
transmitting for providing a service. We call this kind of measurement approach “Inline Network Measurement”. Furthermore,
our approach gives estimated measurement results even at the beginning stage of the measurement task.
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